Headboard hardware located in velcro pouch

in back of headboard.

Footboard hardware located in one end of the

foorboard/siderails.

ASSEMBLY INSTRUCTIONS
Item
Description: QUEEN BED

No: BSOF#8000

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts that may

have come loose inside the carton dyring shipment.

TOOLS REQUIRED (NOT PROVIDED)

—aO Philips screwdriver
PART LIST
No. Description Sketch Q'ty
\\ A | Headboard ‘\‘&l 1 PC
! /7
/
/’I B | Footboard 1 PC
C | Side Rail % 2pCs
D | Centre Rail / 1 PC
E | Slats / 13 PCS
Long
3 PCS
F Support Leg m
2 | BOLT @5/16x90mm 4 PCS
3 | iosioyzomm arcs
4 | LOCK WASHER (@5/16) 4PCS
5 |1see"x 12 x5 (©) 4pCs HARDWARE LIST
8 m,? S ’;g:m é;% 1PC No. Description Sketch Q'ty
Step 2: ) 1 BOLT @5/16 x 50mm |  (9)mmmm |3 PCS
THREAD BOLT
gy | 8 PCS
/ @ 2 @5/16 x 90mm
FLAT WASHER
11 PCS
3 @5/16 x 22mm
4 | LOCKWASHER 11 PCS
(@5/16) =
Hex Nut
\ 8 PCS
5 @5/16" x 12 x 5mm v/"
6 | SCREW s |26 PCS
(M4x38mm) B
SCREW
7 (M4x20mm) P | 4PCS
2 | BOLT @5/16x90mm 4PCS 8 WRENCH \ 1 PC
M5 x 90mm
3 | {ooneyzomm arcs
4 | LOCK WASHER (@5/16) 4PCS 9 (Ai\’:lal;st[)\lman)Y % 1PC
5 Hex Nut 4PCS

@5/16" x 12 x 5Smm

8 | WRENCH
M5 x 90mm

1PC

PAGE 1 OF 2

MADE IN VIETNAM




Headboard hardware located in velcro pouch ASSEMBLY INSTRUCTIONS

in back of headboard. .
Footboard hardware located in one end of the Item L. No: BSOF#8000
foorboard/siderails. Description: QUEEN BED

Thank you for purchasing this quality product. Be sure to check all packing material carefully for small parts that may
have come loose inside the carton dyring shipment.

Step 3:
1 | BOLT @5/16x50mm
Adjustable leveler

3 | e !
4 | LOCK WASHER (25/16) = 3PCS
7 | SCREW (M4x20mm) Brwvww 4PCS
O | ALLEN KEY (35*100mm) % 1PC
Step 4:

Completed

6 | SCREW (M4x38mm) WS- |26 PCS

PAGE 2 OF 2 MADE IN VIETNAM




	Sheets and Views
	Model

	Sheets and Views
	Model


